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Instructions T

'\-\.‘__ "v-.,_\_\_
We have planned development with a view to raising standard ofTN{ujg of our teeming millions. Hence our economic
development is inspired by social justice. O

Question 1 ~ _"—",/'
Which of the following will weaken the argument?

O ‘

A Without economic development stand‘a?d“sf \gr canﬁo{ be raised.
\

B Social justice implies economic prosperity. \“\:}

=

y
C Development cannot be planned ,/

D None of these. /

Answer: C \\
Explanation: —
According to the premise, raising-of the standards of living of our teeming millions (social justice) is done by
planning the economic development. p\\f, if the development cannot be planned, then the argument will be
weakened. Option c) is the correct answer

\__4)

Instructions G=

It is sometimes mo é\d that there can be democracy in a two party system. That would be correct if politics were a
game like cricket md\mjc\ball; but politics is not sports.
Question 2 N
9
Which of thefollowing would strengthen the argument?

{

A Two pﬁ\iﬁys\ysﬁ%ctions well
\dﬂ—//

B Politics is adi

game.
C Two political parties limit the choice of the voters.

D None of these.

Answer: C / /

Explanation:

In this paragraph, the author compares the politics with the gaf“ne I;-ke C cké@oo} all and wants to conclude there
can be no democracy in 2 party system. Option C strengthens/th fact, S |f e than the two party system in a
democracy would not be good as it limits the choice of voters}f 4

Instructions ,'I k’ ((— h

For the following questions answer them individually /\\’\\\AU

2
Question 3 \ /;V
\

The company encourages its managers to interact régularly, without a pre-set agenda, to discuss issues
concerning the company and society. This idea has bé'en rrowed from the ancient Indian concept of
religious congregation, called satsang. Designations are fo otten during these meetings; hence, it is
not uncommon in these meetings to find a sales\‘qumeer 'El stioning the CEO on some corporate policy
or his knowledge of customers. Based on the |nfo?n=\Qtlon pi‘ vided in the above passage, it can be
inferred that T—

A the company is concerned about itéip\tatld\ with Eg}e;;wployees

B the company believes in fostering the sp|r|t\efxd\alogue without degenerating it into a positioning based debate.
\
c the company had some mter-persocmel problems in n the past due to which it felt the need for these corporate
satsangs. /{
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p Allof these (

Answer: B I\\\\ y
L o " 4
Explanation:
From the argument, we und nd the following points: 1. The company is trying to instill the spirit of dialogue in its

employees. 2. This dialog fl’é-;‘gjr}eslt'_'ie\qf_ position or title of the employee.

So, we can infer that the comp dy b(;lﬁves in fostering the spirit of dialogue without degenerating it into a positioning
based debate. Option B is the correctanswer.

In option C, there is an assumptio-h_fhat the company had some inter-personal problems in the past. However, there is
no such informatio,n_}i\kl the passage from which we can infer the assumption. Also, we have to choose the answer
according to the c&ﬁr;e\hts_ of the given paragraph. Therefore, option C is incorrect.

~
T~

Y 4 XAT Previous Papers

Question ({ )

LN
Where th fi[[n Borl;té'c/xy loses out is where every commercial film congenitally goes awry — becoming too
simplistic to a}]_ij;?ss serious issues and failing to translate real life to reel. Which of the following can be
inferred from the above line?

A The film's director aimed at recreating real life on the silver screen.

B The film was too simplistic for the audience's taste.

C The film was successful in spite of its shortcomings. P .
f f N
D None of th o / | )
one of these / A y
/ / Y Ot
Answer: D 1 - (
)
Explanation: [\ ﬁ\ /})

Option a) is incorrect because 'translating from real life to reel' is H’ra.\_ophton/o/f the author of the paragraph and not
necessarily the opinion of the director. Similarly, option b) also cannot‘"-,‘ble inferred. There is nothing in the paragraph
from which we can infer whether the movie was a success©r.a failure. Option d) is the correct answer.

Question 5 g

Nt
According to McNeill, a Brahmin priest was expgt@ to be ailﬁé to recite at least one of the Vedas. The
practice was essential for several centuries wheﬁ\th\e)(gggs'.,had not yet been written down. It must have
had a selective effect, since priests would have been recruited from those able or willing to memorize
long passages. It must have helped in the szsemination of the work, since a memorized passage can be

duplicated many times. \

- \\
Which one of the following can be in*e\rregl\fl;bmftl‘é_’iﬁove passage?

.

U (\/"
&
A Reciting the Vedas was a Brahmin's obligation. .7

o
o
Vi

B The Vedic priest was like a recorqé,/d audio cassette.

\ »
C McNeill studied the behaviour of B\erin pri/ejgts.
p

D Vedic hymns had not been scripted.
Answer: B .

By .
/ <G
Explanation: / W

‘ )
The paragraph states thata m rhoriz dpassage could be duplicated multiple times. Thus, we can infer that a Vedic
priests memory was as reliable s"j“g'_n,éudio tape. Thus, option B can be inferred from the paragraph.

(7
o\

.‘\‘
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Question 6 W

The compai_'j-y":'s coffee crop for 1998-99 totalled 8079 tonnes, an all time record. The increase over the
previous ﬁar's production of 5830 tonnes was 38.58%. The previous highest crop was 6089 tonnes in
1970-71. The company had fixed a target of 8000 tonnes to be realized by the year 2000-01, and this has
been achlb\Ved two years earlier, thanks to the emphasis laid on the key areas of irrigation, replacement
of unproductive coffee bushes, intensive refilling and improved agricultural practices. It is now our
endeavour to reach the target of 10000 tonnes in the year 2001-02. Which one of the following would
contribute most to making the target of 10000 tonnes in 2001-02 unrealistic?

A The potential of the productivity enhancing measures implemented»aﬁ/to now has been exhausted.

The total company land under coffee has remained constant s;rce 1969 when an estate in the Nilgiri Hills was
acquired. y ,-: —
C The sensitivity of the crop to climatic factors makes predlotlo/‘ﬁ abo{Jt prlg@gt}o%w uncertain.

|

The target-setting procedures in the company have been pr?\ied te/ae*so%md by the achievement of the 8000

D
tonne target. / PN \, ])
Answer: A \/ N :\;’
\ ')
Explanation: B :

\.

The main conclusion of the paragraph is that the company cén\c\o tinue to improve its coffee yield as it has done in
the past. The underlying assumption is that the techniques used W them to improve the yield in the past would
continue working in the future. Option A refutes this aSsumptlon andlhence does most to weaken the argument.

S \ V.|
T -j:—j'//
XAT.»\Free Mock Test
\
Question 7 O ‘~‘ \
- | 4

Widespread use of lectures in class- rooms m\ busmess schools leads to severe negative consequences.
The first consequence is theoretically know edge\able graduates who cannot apply theory to solve real
world problems. The more serious consequence is’'that lectures encourage a feeling of total omniscience
among them which persists for qu;t’é some time after graduating. This feeling prevents "them from
learning from their subordinates; aﬁd colleagues.

Which of the following can best ﬁelp to redu;e these negative consequences among the students in a

business school? \\ /;/

A Use illustrations of real life-problems in classrooms.
//‘ D ‘\\
B Send the students to fwd bL/smess problems so that it can be discussed in classrooms.
/)
C Business education to be glvén_tefstudents who have work experience.

—
4

D Modify the peda‘gogy to have knowledge of theory and application in parallel.

Removing theor\ﬁeajmputs from the curriculum altogether; only practical problems to be discussed in class
rooms. \\f

Answer: D'"/""
{/

Explanatlml
The negatlve ‘eonsequences are due to the fact that the theory learnt in the classroom cannot be applied in the real
life situation bythesfudents To cope with this situation, the classrooms should teach how to apply theoretical
knowledge in practical domain. Option D is the most relevant.

o
I/
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P J o L

Question 8 /£

“Assumptions are analogous to the basic ingredients in/"a 'rourmienils,\(fecipe].I;Only the final product of the
recipe dictates whether the ingredients suffice......... » f > =t
1" { ‘,/ = Q
v L —
Which of the following is ANALOGOUS to the statement a ovel'?lf/ ‘] \)
& N \"-:. \\ /.«' y
= S
A Good wine needs no advertisement! \ ’)
<’?“\_H :
B The apple never falls far from the tree! = =

C Allis well that ends well! \
. Ay
D As you sow, so shall you reap! =

E The proof of the pudding is in the eating! \ \

O \\
Answer: E . U\

Explanation: 3 \

It can be inferred from the given line that assumptlons afre analogous to ingredients in a recipe. Only the taste of the

final food can tell whether the mgredlept’s were appropriate or not. Option E is the most relevant.

Hence, option E is the correct answey/ )

t \ ‘;“7

| N 4/
.. there is a degree of convergenc\ehmthg d/efmltlon of trust which can be summarized as follows: Trust

is a particular level of the subjective probability with which an agent assesses that another agent or

group of agents will perform.a particular action. When we say we trust someone or that someone is

trustworthy, we implicil fy’rﬁéai_i'\&thgt the probability that he will perform an action that is beneficial to
[/ NSy

us u l/i/ '] ;l -

Which of the following statement BEST COMPLETES the passage above?

£
(7
|

A is high enoug@._ys to find out if he will cheat us.

Question 9

B is high enough for lETe;\Qo/nsider engaging in some form of cooperation with him
/"}
C islow er’{g{ugh for him not to engage in negative behavior against us.

D is h|gh|\ Jenough fo/w; not to build defences against his possible aggression.

E islow enchgh_ﬁerr’ s to attack him.

Answer: B

XAT Decision Making mék Tests

o

Question 10 // r/ =R

The MBA (1) is hardly a prerequisite for success, but it (2) ertal,éﬂy elps (3), and it has been getting
more important (4) in recent years. Most (5) MBA progra s equ'lp thelr gra‘duates to understand how (6)
to deal with many of the important questions that thelr o ganfzatloris WJ’H need to tackle (7) over time,

et

and (8) that they will face in their careers. / —
The above italicized numbered words will be correctly /ef{isq ted by)the following parts of speech:

\\__7 \ - ///

A 1-Noun, 2-Pronoun, 3-Adverb, 4-Adjective, 5-Adjective, 8- ConJunctlor)

B 1-Noun, 3-Adjective, 4-Adjective, 6-Adverb, 7-Adverb, 8'2At;:t'_fi_d.e_\

C 1-Noun, 2-Pronoun, 4-Adjective, 7-Adverb, 8-Conjynction ": \ly
"-._“- ‘-«..__“\- ,.'/

~ A
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D 2-Pronoun, 3-Verb, 4-Adverb, 6-Adverb, 8-Article

E 2-Pronoun, 3-Verb, 4-Adjective, 7-Verb, 8-Conjunction \

Answer: E

Explanation:
1 - Noun

2- Pronoun
3 - Verb

4 - Adjective
5 - Adjective

6 - Adverb

7 - Verb

8 - Conjunction

Hence, option E is the correct answer.
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